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ouE - A / SECTION - A

'ﬂﬂjﬁ'@ wyq / Objective Type Questions
wvT wear 16 100 % & gew WV T & arer aw Praew o wo & faed 4 0w
g2t 1 o grr g3 T WE fAwew ®1 OMR iz or fafeva &% Rt

50 gt ®1 37 1 50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct.
You have to mark your selected option, on the OMR-Sheet. Answer any

50 questions. 50x1=>50
1 w5 R T % g ) HE € ? ,
(A) IR g8 g At wEfEE
(C) FaftmE¥@E (D) 3 & wE T

What is a group of many indifference curves called ?
(A) Indifference bundle - (B) Indifference map

(C} Indifference diagram (D} . None of these
j ﬁa@aﬁ%ﬂﬁﬁﬁﬁwmﬁaﬁmﬁ%mﬁmﬁgﬁm
w0 ¥, 71 wEad € ?
AA)  FEREE 6 B) AW g =%
(€) wwe@ O) @B}
The graphical’representation of combination of two ’goods which

provide equal satisfaction to consumer is called

(A) Indifference curve - (B]) Iso-utility curve

(C} Budget line (D) Both (A} and (B}
wy”"'mmﬁmummamﬁ?ﬂ% ?

yAy THUA (B) wmEu M

© fex D) T 4P Tl

What is the marginal rate of substitution of indifference curve ?

(A} Increasing (B} Decreasing *

(C} Constant (D) None of these
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4. IR % TEen R W wore YEn i T W o w P
(A) R B) i wh R
(©) Qa9 wred (D) o @ =g Tl
At the optimum point of consumer, what does the budget line do to
indifference curve ?

L b R S, et B 0

(A) Cuts (B) ‘Touches, ‘
(€} Cuts two times (D) None of these
5 Anamfem i En e | '
(A) AT - (B} - TRV
(©) J=iw D) A B T
What is the slope of demand curve ? :
(A) Positive (B) Negative
' (C) Vertical (D} None of these
67 wmrR Iwg $1 A o # g % @ e
(a) e | ®) Ef
€ FRrwh (D) ¥@ /o o
What would happen to demand for normal goods with rise in
income ? |
(A) Increase (B) Decrease
(C) Remainconstant (D) All of these
/z./ TR JiT T8 m—mmﬁwﬁ%nﬁaﬁmwﬁmt ?
@A) @ (B) el HHeH
(C) ¥R | DY (A) IR (B)QHT
What is the markct demand curve of demand curves of different
individuals ? ‘ |
(A) Sum (B) Horizontal summation
(C) Difference (D) Both (A) and (B)
g, g ® uin o IAR R @ Wi R N9 | e, | TR 2
] A) legl=1 ~(B) le,;|=0
(C) leyl=e D) lezl<l
e
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If the demand curve for a good is vertical then what would be the

elasticity of demanded ?

Ay e, | =1 B) Je,|=0
© e l== D) leg i<l

9. u* s win o Frw g« x5y N wrea § ggl shv f o= w1 Ae
w1 g R P
A)  le; =0 - B) le,|=1
C) ley|=o D) le;l<1

" At the point where the straight line demand curve cuts the x-axis,
what is the value of elasticity of demand ?
(A) e, |=0 B) e, =1
(C) leyl=ee D) le;l<l
10. WM 9% F G p.g=e aﬁpm, qnmaﬂtef&t%lmﬂﬁaﬁ

W1 T AR W 2 o
a) 9 H AEH T (B) STHRIHR SARET

() Hidt @ (D) - 3T @

The equation of demand curve.is-p-q=e where p is price, q is
quantity and e is constant. What would be the shape of this

demand curve ?

(A) Downwardsloping curve (B) Rectangular hyperbola
. (C} Straightline : (D) Vertical line
T s e Jee B @ 2
A Tegat @ B) anadt =
€ TMHE +B7  (A) 3R (B) B
What does the economy produce ?
(A} Goods (B) Services
(C) Profit (D) Both (A) and (B)
L “geq fiukw w@ Imie EER W FwEE R anle ¥ awla
e S & 2
(A) ufd i B =y sdw
(C) Iy Irdare (D) H A w7
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" Price determination and consumer behaviour is studied under
which economics ?
(A) Macroeconomics
(B} Microeconomics
(C) International economics
(D) None of these
13.  a¥ 1020 ¥ 1933 ¥ o9 T nat i aw § fray A & 2
(A) & (B)
(C) =hem (D) uf=at
Between the years 1929 and 1933, in every nth Americans
............... was unemployed.

(A) Second (B) Third
(C) Fourth (D) Fifth

y - 14, maﬁmmmmﬁ%ﬁm% ?
(A) (B) wIgy
() @aﬁ Iaf (D) T ®E T

In a capitalist economy the production activities are in the hands of
(A) Government

(B) Workers

(C) Capitalist entrepreneurs

(D) None of them

15. Fdsqarr .o dEdt r fre e gu R s € 72

(A) Ui &F s (B) Tl &

(C) ST & (D) TH & WS T

In an economy decision regarding consumption is made by
(A) Household sector ~ (B) Government sector
(C) Business sector (D) None of these

16. Frafa & freh 2n g w6
) TRw & % R @
@) fadw ¥ fasra Rem o @
© 4w ¥ it foram s R
(D) ¥ a ot
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In export by a country the goods

(A)  are purchased from abroad

(B) are sold abroad

(C) capital is invited into the country

(D)  all of these

N 11}. A S AT S A R AN FEA P
| (a) By 1
© W D)
The income of which factor of production is called profit ?
(A) Labour (B) Capital
P (C) Land (D} Entrepreneur
18, frg 2w fhad S ¥ v T ot apfemen § i i
Ht B ?
a) faefaa 2 By fPrfe
©) (a) 3 (B) I (D) (5T @ Hid TE
In which country, besides capitalist sector the state also plays a
role in the economy ?
(A} Developed ¢ountry (B) Developing country
(C) Both (A)and (B). (D) None of these
19. g T S e 3w & 7E T8 e, 0 e @ 2
) wemdlEg By~ iftm 7
(© Tweaeg - (D) Py
What are the goods that are not destroyed by short term
consumption called ?
(A} Intermediate goods (B) Final goods
o {C) Durable goods (D) Capital goods
20, et o ) wwen # Rew awg A e 2w o R 2
(a)  ifew TG By Wi IR
) ¢ima Tt (D) oo wg
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In the problem of double counting, which good is counted twice ?

(A} Final good (B) Intermediate good
(C)  Capital good (D) Durable good
o2t T R O aom i % R, A R e P
- {A)  ageR B) ftmin

(C}  afugfd (D) T & g A
When market supply is equal to market demand then this situation
is called
(A)  Equilibrium (B) Excess demand
(C)  Excess supply (D) None of these

22, ﬁqzmwﬁmmmm% ?
(A) uHREER (B) usmItesrlt fereqyt
(C) areafusr (D) ol wfegifan
What kind of market is market for biscuits ?
(A) Monopoly (B} ._Monopolistic competition
(C)  Oligopoly (D)  Perfect competition *

23. ﬁﬁ@@ﬂ%%&ﬁmmnﬁ(njﬁmﬁmt@(mwm?
(A) D>S (B) D<§ |
(©) D=s (D) & =

At a price miore than equilibrium price, what will be supply ( S)
compared to.demand ( D)?

(A) D>'s B) D<S
) D=8 (D) None of these
24. foa feufy % ggem @ qun wen & ofeds A R Bt »
(A) & i 9% giiE R w2
(B) & gfd =3k qfe frwe @ 2
() a4 9% 9 R v 2
(D) ¥ & i T |

l

[ %)
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In which situation is the change in equilibrium price and guantity
is in the same direction ? ”

(A) When demand curve shifts rightward

(B) When supply curve shifts rightward

(C) When supply curve shifts leftward

(D None of these
25, mﬁwﬁﬁaﬁmﬁﬁmm%?
o Pt a1 (B)  feraw Fuifa S

_(A)
(C) FgTA Hwa (D) ¥ @ B T

Wheat sold at ration shop is an example of
(B) Miniml.im support price

(A) Ceiling price
(D) None of thes¢

(C) Equilibrium price
it 1 S 3 gaw oft afiina F9 w2
A} a5 Fl fr—ang e Aiid @ d
(B) & B wmr T s W

© u el A

D) i A wE T

When will the efitfy and
(A) Whendirms are earning supernormal profit

(B) When the firms are earning normal profit

(C) When firms are experiencing loss
N (D) None of these |
f@) Prr R Ea A 4 Rrad g o= g @ 2

(a)  fgft H B) e H

ey T fd . (D) vEARE

The minimum sup;;ort pricc policy gives rise to which problem ?

(B) Excess demand

_~26.

exit of firms in the market stop ?

(A) Excess supply

(C) Low supply (D) None of these
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28w wom Rrwit it ot o A B a8, 0 FE R 2
(A) TR () goi wfeest
€C)  Infesr (D) i § B T

What is the market where both consumer and firms are price
takers called ?

(A)  Monopoly (B) Perfect competition

(C)  Oligopoly (D) None of these
29 R faskm fbw v % wrom 6 faw Ry R 2

(A)  qui wfeifien (B) UsHItER

(€) TR D) T wd T

Two sellers is a special case of which type of market ?
(A)  Perfect competition (B) Monopoly
(C)  Oligopoly | (D) None of these
30. wewIftwrt wfeaut frad swu am B R 2

(A) T 9 % wmRO (B) - SR T HHOT
(C) o wFE S F R (D) (T A B Tl
For what reason does monopolistic competition arise ?
(A) Due to homogeiieous good
(B) Due to nonshomogeneous good
(C)  Due to perfect substitute goods
(D) None'of these

3T, f d 9 Qanatt Y Aoft F s @ 2

(A) ST TR (B) imy
) wifam Wil kR
Which of the following is under the category of services ?
(A) Canteen (B) Insurance
(C) Coaching (D) Al of these
\//52. e o 1 =i TRgAl 1 I W wm R ?
(A) IR B) =iy
) faest B TR
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Which of the following persons is producing goods ?
(A)  Teacher (B) Poet
(C) Sportsman (D) Weaver

33, ‘difre gamEl w1 e w2

(A) Tt SOt it FE amen

B) et =afe i = e

(€) veioreEn S N qEeE

(D) FHE W

What is ‘Allocation of limited resources'?

(A) Central problem of a company

(B) Central problem of a person

(C}  Central problem of economy

(D)  All of these ,
34 PEifdoatlesamaRamdRE?

(A) STTgT T (B) foR wrma

(c) uifgs @ | (D). . @i ST
Which of the following is termed as economic cost ?
(A}  Production cest (B) Fixed cost

~ (C} Monetary ost (D} Economic cost
e gR serEnd e S R Y, @ fia w2
(A)  drET I ygf WEREE
(C) &K ' (D) ¥ @ &g T
Who decides.'what to produce' in a market economy ?
(B) Market mechanism
None of these

{A) Planning commission
L (C) Government (D)
56, SR W 1 A fhwa & 2
T g wm @ A e, s R el
) ream R gra Shar-fskar wweh & € S@ BN
(C) Ferg uifin @éa
(D) A WA
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What do we mean by the word ‘market’ ?
(A)  Place like a square, iocal market etc.
(B)  Means by which the buyer and seller are in touch with each

other like phone

(C}  Online shopping portal
(D) All of these

- YR # Y arefermen & »

(A)  fafe sreleraen (B) ASAIEG e
(C) == arefegaen I <
What type of economy is in India ?

(A)  Mixed economy (B) Planned economy
(C) Market economy (D) None of these

39.

aﬁaﬁnﬁ—tgﬁfﬁm%wﬁaﬁwmmwﬁmm%?
(A) ORI e £ (B) . =1 ariaa
(C) e aredvra (D). (A) 3 (B)

Under which of the fellowing is the price determination of goods by
demand and supply studied ?

(A) Positive e::onoi}lics (BY Microeconomics

(C) Normative econnomics (D) Both (A) and (B)

fra mﬁ@mﬁmm%mmmw
R ?
{gﬁ)}e frf3ra arefegaeen (B) 3 wfazraw

) ¢frard anfwa@n (D) T A H T

In which economy are the resources allocated for ha.ppinéss and
prosperity of the whole economy ?

(A) Mixed economy (B) Centralised economy
(C) Capitalist economy (D) None of these
24 /A/XI1-5013-@7/40) Page 12/ 3%

— Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

326

40. ¥ W * e px +p2meM, % Py, p, ™ i)
A FHIEIG2HE  (B) T 1 WG 2H A
(C) IIH A I D) & T
In the equation of budget line px, +Pp,X, =M, what are p,, P,
(A)  Prices of good 1 and good 2
(B) Quantities of good 1 and good 2

?

(C) Income of consumer
' (D) None of these
41. ﬁmﬁﬁ%&maﬁ.@mﬁt&imwﬁmﬁmm% ?
(A) HE . (B) MW [
€ Fau (D) THE o
Which of the following variables is defined for a time period ?

(A} Income (B} Consumption

(C) Investm,en\t | (D) All of these
ap P i@ eW oewmen AR
Ay HeA | (B) * FHEEE F TE

() U, ag, wHIW BT i 4w
Which of the followingds capital of economy ?
(A) Building (B) Office place
(C} Road, bridge, airport (D) All of these
‘{sﬂrma@aﬁaﬁﬁﬂﬁagg—fz%mmﬂﬁ-wmi ?
(A) __ wwa P, @) e fEaw

) T | o) T & % T

what is the adjustment for routine wear and tear of capital goods

called ?

(A) Gross investment (B) Net investment

(C) Depreciation (D) None of these

44. mmﬁwmmmt?

(A) J9viEl | (B) s
() wf (o) wAadh
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Who purchases capital goods ?

(A) Consumer (B) Businessman
(C)  Entrepreneur (D)  All of them
45 Pef wfin ¥ g agait W wlicy 6 g feed A R ?
GV Gl (B FEE
© (D) T A H T
From where does a man get the ability to purchase goods ?
(A)  From capital (B) From income
(C) From land (D) None of these ‘
46, W sdemen ¥ am % agw waEE § It & FRH B A wh
w2
(A) vfER &5% (B) NR &A%
() fdw o= (D) o & % T

Who demands the factors of production. in circular flow of income
of simple economy ?

(A) Household sector (B) = Business sector
(C) Foreign sector (D) None of these
 /47,:««” """ sreferaeyr # gRer &% gu iy e R R wea € 2
(A) . s = ) SO =
(C) AWM. =Y s (D) fFala=m
In an economy what is the expenditure made by household sector
called ?

L

(A) Investment expenditure
(B) Consumption expenditure
(C) Import expenditure
- (D) Export expenditure
a8, v 3eare oA 3 deft ol @ o e § -

S &= HE (B) weaadt awgd
() 3ifew awqd D) (&) 3 (B) Bt
o 24 /A /XI1-5013-(37/40) Page 147'5
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What kind of goods does a firm consume during the process of

production ?
(A) Raw material (B) Intermediate goods
(C}  Final goods (D)  Both (A) and (B)
49.  BH qed A - A = Pt 7w aff, wef w2
S Gl (B) ¥ aftha
(C) wH f fish (D) ¥ & W
In Gross value added — A = Net value added, what is A ?
(A}  Depreciation (B) Value added
(C} Sale of firm (D) None of these
50, WfH T Wi IR H A R qeEt R o R 2
o tA) 99 fdl W ~ (B) 3ur ¥ HiFal W/
) fer Hiwdlw (D) ¥ § HE
Nominal gross domestic product is measured at which prices ?
(A) At current prices (B) . At base year prices
~ (C} At constant prices (D) . ' None of these
51, O} 2023 FT INE eI Gah AR R 1 @ @ el g B g
2010 % SHimal @ H IR, q-2023 T 2010 FHHW: T E ?
(A) TER T, g J(B) e, e
—e) e, R Y (D) mER =¥, Fmar T
If consumer:price index for 2023 is being prepared in which prices
would be compared with 2010 prices, then what are 2023 and
2010 respectively ?
(A} Base year, current year
(B) Current year, current year
(C) Current year, base year
(D) Base year, base year .
5o @ 2020 F1 I TeA quH® TR HA A, e o F @ A g R
w2
(a) adur a9 | (B) Rt
(C) 2023 (D) 1947
(24 /A /XI1-5013-37/40) | Page 15 / 32
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rices of which
For preparing consumer price index of 2020, the P

vear would be used for comparison ?

(A}  Current year (B) Base year

(C) 2023 (D) 1947 |
53. ﬁ%hwmmmmmmmﬂmﬁﬁ

fagwt @ v Pae s a9 = af 2

(A} RITHS (B) GIH®

€ 3 D) T A wf T

If a country's gross domestic product is greater than its gross

national product then what would be the net factor income earmed

from abroad ?

{A)  Negative (B) Positive

(C) Zero (D) None of these
54. FEa g W -m@E R - Z ?

(A) Z= " W (B) . Z =R

€ z-Fm= D) A T

Net Indirect Taxes& Indirect taxes— Z ? “

(A) Z = Directf Taxes (B) Z=Factor

(C) Z = Curporation Tax (D} None of these
/55 T o | W@E A feaew qEm R 2

A 3IEA W (B) WG F W
(C) HITH F H D) ¥ &+ 7
Cooking gas ( LPG ) at lower rate is an example of

(A} Subsidy (B) Direct tax
(C) Indirect tax (D) None of these

s, fre i & e i 3 o & w9 § ardifes e b 2
(A) WU By "
© H-u O  faftem g
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which of the following mcans of exchange has universal

acceptance ?

(A) Bond (B) Gold
(C) Land Asset (D)  Legal tender
57. rﬁﬂﬂ_ﬁﬂ#ﬁéﬂﬁﬂﬁﬁﬂ%ﬁﬂ!ﬁiﬁﬂhﬁmqﬁaﬂqﬁm?
() W (B) =t
() fegr e (D) ¥l @ ot
What would be the change in demand for money for transaction
purposcs due to rise in prices ?
(A) Increase (B) Decrease
(C) Remain constant (D)  All of these
58. Wh&ﬁﬁwﬁﬁ%wwﬁmwmwm%?
(A) He e 3R faw (CcC)
(B)  HiM 3@ (DD)
(C) o aud e § F=q Fund
D) (A) 3 (B) 3
Of the alternative m res of supply of money by Reserve Bank of
India which is the\gqé(zr’rect component of M1 ?
(A) Currcn%ﬁ\%w and coins (CC) .
(B) Demand deposits (DD)
(C) Savings deposit in post office savings bank
(D) Both (A) and (B)
59 mmﬁmmﬂﬁrﬁlm%?
A TaEfa S @ (B) ®<d 1 @Al
(C) e T @ (D) ¥H & B
Time deposits are kept in which account ?
(A) Term Deposit Account (B) . Savings Deposit Account
(C) Current Account (D) None of these
24 /A / XI1-5013-(37/40) Page 17 / 32
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J-

TR W CU B 3fk s DD @ A A T FEAW 2

(A) Cu/DD (8) DD/CU

(€} DDxcu o) T awdId
If currency is CU and deposits is DD then what would be currency
deposit ratio ? |

(A) CuU/DD B) DD/CU

(C) DDxCU (D) None of these
61.  reMfiRra sy @ wet ot o w fw o R el 2

(A) et SR B afEh Ax

(€©) T 3R (D) T & & T

Due to technological progress, in which direction will a ﬁrm’ii
supply curve shift ?

(A) Leftward (B) Rightward
(C) Upward : (D) None of these
62. Hiwia W W% A it T @ S Re R WO & 2

(A) I g W (B) . =qFanfag W
© Pdygaed 0) 33 e §
The marginal cost ‘¢iirve cuts the average variable cost curve at§
which point ?
(A}  Highestpoint (B) Minimum point
(C) In declining portion (D) In rising portion

/:( frm & #N9 9% ST AW U F TR w1 Bar R 2
) T a6 (B) T VW W%

AC] FOUREH AR BT T ¥ R
Which of the following curves is of shape of English letter 'U' ?
{A) Total fixed cost curve
(B) Total cost curve
(C) Total variable cost curve

(D) None of these
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(q T JARA T F W) - (- 1 T FereA W FWA AO) - 2

34.
(a) INEa @ () Hi@ @@
© e () vHaFE
( Total cost of g units of output ) — ( Total cost of g - 1 units of
output } = ?
(A)  Average cost (B) Marginal cost
(C) Fixed cost | (D} None of these
65. EW TR h T S AT 6, 2t frg s H AR € 2

(A) I 'ULATHR H (B) x-3T9 % HHTH

(C) IR 'S HHELH By T & B T

Marginal cost curve and average cost curve, both are of which

shape ?
(A) Inverted 'U' shaped  (B)
(C) Inverted 'S’ shaped ' (D) ‘None of these

66, e wit s § ¢(e>1) T 9% ot ¥ Frwd e oA ¢ T WG T 8
AWFFEAE? |
A) TR A =1 e @) aum A w1 Sfawa

() weEm TRE gfawd - (D) ARSI

If all inputs are increased t(t>1) times such that
increases t times then what is this called ?

Parallel to x-axis

output also .

(A) Constant.returns to scale
(B) Increasing returns to scale
(C) Diminishing returns to scale
(D) None of these
67 wiu-TTeE IARA B g=x"xx,t FaR a+p>1, q I WD eniar ¥ ?
a) fRR twm % yfaed (B) aHAR dmr w1 e
) wwwR W sRes (D) WA sl

24 /A /XI11-5013-@37/40) Page 19 / 32
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[n Cobb-p [ 326
“Pouglass production function q=xl“xx23, if o+B>1, th 1

(A} Constant returns to scale
(B) Increasing returns to scale
(C) Decreasing returns to scale
(D) None of these

68. %%?ﬁwmmm=? :
A)  Hiwig e B) fer e
(C) T afteedlf wprg (D) A WS A
At zero level of output total cost = ?
(A)  Marginal cost (B) Fixed cost

(C)  Total variable cost (D)  None of these :
B9, AT umg / Ag=7? |

(A)  3Ea A (B) - Hura wmTg |
€) T dREdf e (D). &7 & mﬁ L
ATotal cost/Ag="?
(A) Average cost (B) Marginal cost
(C)  Total varigBie cost ‘ (D) None of thege

70. maﬂmﬁmwwﬁmwaﬁ%?
(A)  FomE (B)
© A D) 0% & 9 o
What is the slope of short run average fixed cost curye
(A} Negative (B)  Positive

(C) Zero (D) None of thege
71, wwn A F Rrereor w1 wee e w4
&) wh A s (B) TR o v
(€) b el # T (O A
24 /A/ XII-SOIS-;awqol | Pagc_g-ﬁ
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What does the government do to change the distribution of
income ?
(A) More taxes from the rich
(B) More expenditure on the poor
(C) Provision of public goods
(D)  All of these
72, qoftva ity <6 el e WE T R ?

| (K)  ETR RO
(B) g«
(C) arfe IuEAl % R okt @ o
(D) T @ & TE

Which is the most important head of capital receipts ?

(A}  Public debt

(B) Small savings

(C) The income from the sale of shares of government enterprises

(D) None of these
73 TR AT E T RE e ?
(a) Twia ¥ afg (B) 1 I UMK TR JTH HHT
€ A gg oupr Al
What is the main@bjective of fiscal policy ?
{A} Increasgin output
(B) Achieve high level of employment
(C) Increase inincome
(D)  All of these
74, WTHIQ =99 UE FOE ?

AY | —=¢ AY
M AFTToe B 67T
€ TH (D) ¥ @ = T
What is government expenditure multiplier ?
. Y -c AY
L~ At B AT
—_ (€) One (D) None of these
-~ [24/A/X11-5013-@7/40 Page 21 / 32
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(3261 |
75, WY e o i wm v d o :
A) T B) &
© D) i & Fr
What is the value of balanced budget multiplier ?
(A)  Zero (B) One
€ Two (D}  None of these
_ .76, PR femd It dift o A g2 2
@ == B wWI¥
HO) w3 P wEIwh

Due to which of the following there would be burden on future.
generation ?

(A)  Expenditure (B) Tax
(C)  Debt (D) -Allof these f;
77 Rl 3 g, =, s R - 1 frw fvm o
| B ? | | !
(A) T @ ~{8) &t @
(C) PR @ D)  wmHF B 5
The details

oftsales and purchases of ‘assets like curren

cy, stock
bond etc. ase kept in which account ? :

(A)  Current Account (B) Caﬁital Account
(Ci Reserve Account (D) None of these
78] fafma ¥ Hew wre & w4 wdm o
) s B) fata
© Y0 fam D) = 3 5§
What will decreasc due to exchange rate dépreciation ?
(A} Import (B) Export

(€}  Capital investment {D)  None of these
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79.

80.

81.

82.

If other inputs &ave constant

[326]

Gl JregaET 1 Wy w1 8 P

(A) Y=C+I (B) Y=C+I+G

(C) Y=C+I+G+X-M (D) %8 & wif I

What would be the equilibrium of open economy ?

(A) Y=C+1I (B) Y=C+I+G

(C) Y=C+I+G+X-M (D) None of these

ft 3 A e 2, Weh anferaTn F1 U Yl ag e W I ?

(A) T N W OE  (B)  9q JrfsrEed I
(€ o s g (D) T & = T

Which is larger, the mult:lpher of open economy or

closed economy ?
(A) Multiplier of open economy
(B) Multiplier of closed economy

(C) Both are equal

the multiplier of

(D) None of these
mmf&nﬁaﬁﬁvﬂwm%wﬁﬁq&ﬁmﬁ%m
F w7 qiEdq gaT 8 ?
) free it @ B) - g adt 2
) fRrwEh? ) T wETE

then increase in use of one input

ses what changes in marginal output ?
(B) Itincreases

(D) None of these

cau
(A) It decreases

c It remains constant

-&rmﬁ%aﬂ*ﬁmaﬁﬂzwﬁmﬁﬁammmmﬁw
weera & ? |

(A) EHICUIRG Tk (B) IFRME T

() www X (D) ¥ & Bl

What is the set of combinations of two in
puts which
equal level of output called ? produces

(A) Isogquant curve (B) Indifference curve
(C) __ Isocost curve (D) None of these
24/A/X11-5013-(37/40) Page 23 / 32
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ﬁqﬁ-&nmﬁmaﬂﬂﬁmﬁ-ﬁaﬁa&mmmt? ‘
(A)  =m (B) o= WA
(C) e O) ¥ & @f .
Quantities of which of the following inputs can be varied in the:
long run ?
(A)  Labour

(B} Raw material
(C)  Machine (D}  All of these

@ Hia avE T A T T A P Ry T 2 o
(4)  I=wm fag w

—B] A fag w
©) w= fag w D) w1 & = 7
At which point does marginal cost curve cut the average cost
curve ?
(A) At highest point (B) At lowest point
(C) At mid-point (D) . "None of these

85. Mm%mﬁmmﬁmﬁmm%?
(A) fﬁn@ﬂﬁaﬁm%mﬁ
(B) Eﬂqi'aaﬂxaﬂmramﬁi%mﬁ
(C)  Hmma 3 s Iedt ¥ orqam &
(D) & w7

In the law ‘of variable proportion, which Proportion is varied ?

{A)  Proportion between ﬂxeﬂ and variable inputs
(B) Theratio between marginal and average products
(€)

The proportion between marginal and total products
(D) None of these

- —
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[ 326 |

If there is an increase of t times in factors of production as a result
this be called ?

of which output increases t times then what will
Increasing returns to scale

(A)
(B} Decreasing returns to scale
(c) Constant returns to scale
(D) None of these
o7 gﬁ%-gﬁﬁhﬁq%ﬁm%,gﬁﬁmﬁﬁ#mmwﬁwm
a7
@A) Fead? gy frme i &
© ferwd? o) w A e
e beginning what change

input increases, in th

takes place in the short run marginal cost curve ?
(B) Declines

(A) Increases
(C) Remains constant (D) None of these

88. ﬁnﬁ‘ﬁ'aﬁ:w@%?
(A) g gfadt ard = T

As the quantity of

(B) Td qfadt @ = JitEd afadf @@ x qE
() 3hEa PR =T
o) o aad
Which of the foliowing ¢quations is correct ?
. Total variable cost
(A) Average variable cost = Output
(B) Total variable cost = Average Variable Cost x Quantity
Total cost
(C) Average cost = —-"*"”"""'q

(D) Aliofthese |
L59) ﬁmﬁaﬁﬂaﬁ,aﬁaﬁaﬁwﬁgmmh
© (A dimiq @A G -

(c) dwara ard LED
_ oy ¥ a a7
— ] 24/A/X]1-5013- .
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90.

L 91 .

92.

-AB) wfengfert =61 fasea s

(326
Which of the following curves cuts which curve at 1ts minimyp,
point ?
(A)  Marginal ¢ost curve cuts Total cost CUrve
(B)  Marginal cost curve cuts Average cost curve
(C)  Marginal cost curve cuts Fixed cost curve
(D) None of these

w6 Fet A w§ e @ H S R P

(A) e wrE B) 3iea aiEd v

(C) =gFam 3twa wrE (D) ™

What is the difference between firm's total revenue and total cost ?
(A)  Marginal cost (B) Average variable cost

(C) Minimum average cost (D) Profit

% b I 9SS Y A 30 K/ W S H GUFT AR R 2
A) At Bft 2 (B) wUET B &

(C) =0 &R (D) 30 A Y 7

As compared to the rate of interest on deposits in bank, the rate of
interest on loans is

(A) more \\@ (B) equal
(C) less Q (D)  none of these

ﬁﬂaﬁhﬁ@%mﬁmﬂ?ﬁgmﬁq&m%aaﬁwmv
A) SR 1 wa

(C) e HTifa U § gfg wum
(D) ¥ A T

What will the Reserve Bank do if it wants to increg

se high power®
money ? ' 'gh po

(A)  Will purchase government securities

* T

(B)  Will sell government securities
(C) Will increase cash reserve ratio
(D) None of these

e A
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g3 IPM G C=C+cY B cewnt?

(A) % : (B) =prem Ay arga 3gvm
(C) TETEd I9am (D) w7 ad
In consumption function C=C+cY,whatis ¢ ?
AC
(A) AY

(B) Minimum subsistence consumption
(C) Autonomous consumption

(D}  All of these

94 Podam i AwEIEL?
(A) TR (B) W
{c) uEH D)
Which of the following is not physical capital stock ?
(A) Machine (B) Buildings
(C) Roads (D) Fr'uut,sg .
95. Y=C+I+G+c (Y-I) ﬁﬂﬂ-mﬁﬁ'ﬂﬁ :
c B) I
(A} C |
c G (D) ¥H a gl
.Y C+ T+G AL {Y-:f} which of the following is autonomous
In Y=0C- D\ *
term ? _
Al C B) I |
» e (D) All of these
(©) -
96. I HeH Cc=C+cY ¥ cHFMAARAR ?
(C @ & o) wHaWh .
:mi .. the value of ¢ in consumption function C=C+ cY?
'hat 18 Lil | | |
(A) More than z€T0 (B) Equalto one
c u.- . than one (D)  All of these
T 24/A/XI1I-5013-7/401 Page 27 / 32
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97. af s s g e 1 o 7

(A) = , ® 1
() 1000 (D) ¥

is e 0 one then
If the marginal propensity to consume 18 equal 1o what

would be the value of multiplier ?

(A)  Zero B 1
(C) 1000 (D) Infinite
98. Wt win fagia # asc XA A 2
(A) Y=AD (By AD= AS
(C) WI9R |ge W@l D) TR wh ,,
In the theory of effective demand theory what does 45° line show?
(A), Y=AD (B) AD=AS

(C) Market equilibrium line (D) « All.of these

99. R i waa Wi a5 S & @ w=E A F w1 qiEd T 2
(w3 | (B) fmwh
€ wht D) w3 H T

If the marginal propensity to save increases then what would
happen to.giantity of savings ? |

(A) Would increase (B} Would remain constant
(C) Would decrease (D) None of these

100. = aftal 4 ghamn o Pfvaa s firg w6 vt & 7 weerd 2
(A) VWEH=H (B) wa®E = o |
© fR= D) wEIREAE &
What are the variables which are defined at a particular point *
time called ? '
(A) Stock variables (B) Flow variables

(C) Constant variables (D} None of these

. 24 /A/ X11-5013-(37/40)
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15x 2 =30
1. Q-8% e § daem & o v R 2
What are the conditions for equilibrium of two-sector economy ?
2. RO ¥ Ay A 9w qwe § 7 2
:What do you understapd by burden of debt ? a
3. TEuRTEmd? " 2
What is revenue deficit ? .
4. Ui wieead & Bt e whens wF@m a2 2
Why is pcrfccﬂ; competitive firm called price taker ?
5. ¥R Hqe st fafe difag 2
Draw the market.equilibrium. |
6 UHIER AR o Rrmme w1 i § aviv w) 2
Describe two characteristics of a monopoly market in brief.
7. Y aeg # R 2 IEEW | n
| What is complementary good ? Give examples,
g tmulas Rfesifms ot fide e~ 1 W 5

Draw a demand curve whose price elasticity of demand e= 1,

9 HmErFmaAITIR?

What is price elasticity of demand ? :

10. -3 % forg g B wtn o ol 2
Write the equation for transactionary demand for money.

' 24/A/XI1-5013-37/40) pagc 29735
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L ot o o aftrfe . 2
Define demand deposit. l |

12, h%wﬁsﬁ'%ﬁmmmh%? 2
By which process does bank provide loan to a person ?

13, W e o o W 2
State the law of diminishing marginal productivity.

14, Mwa ofwdt e o fifi =3 2
Draw average variable cost curve. )

15. fﬁ;@huﬁwﬁwﬁﬁ@m’t@aﬁﬁamaﬁl 2
Show the price line of a competitive firm with the help of diagram.

16. T STpfvn Huar & o 2w @ B R 2 *‘ 2
Is a country rich in natural resources prosperous ?

17. Q= =l w2 vaw =i % 1w Rl 2.
Write the names of two stock variables and two flow variables.

\is Y @ a9 = wER g 2 T P v dR ¥ - 2
What do you understand by investment ? How many types of
investment arethere . - ‘.

197 ardwme # wft ¥ o @ wwed # o 2

. What do you understand by 1§nd in economics

207 mﬁmﬁﬁm%mmﬂg? 9

_ What are the uses of natural resources in economics ? |

21. s nenidt § W gan W 2 o 2

What happened during global depression ?

22, ﬁﬁmaaﬁm&ﬂtw%mﬁﬁ‘mﬁaﬁ: 2
¢ Define exchange rate in terms of upee and dollar,

|23, SR XX @ A9 T ¥ o 2

: What do you understand by trade deficit 7 L
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G'

2 2
what do you understand by open economy ?

55, AW tE W uforie WX 2
Define budget line.

2. mmﬁﬁﬁﬁﬁﬁi 2
Draw consumer indifference curve. -

y7. Wi we w2 52
What is demand function ?

28. Waqﬂmawﬁaﬁﬁmaﬁaﬁﬁmﬁ%mj 2
Write in brief two characteristics of market f:-pqggm,y.w_i ‘

b0 geed w6 a gt 7 2
What does production possibility curve show ?

30. WWW@WWW’#? _ 2

What do you mean by positive economic analysis 7

#dt I WEA / Long Answer Type Questions
a?s«‘avﬂﬁwm#r&'-ﬁawﬁ&:mi | AT &

yvr wear 319 387%
S gw wiw 100-120 T HE: 4% 5=20

frg 5 F Fraffea #1 &%
Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
| rks. Answer in 100 - 120 words each :

Each question carries. 5 ma
4 x 5 a 20

mmuﬁﬁﬁq&mwﬁwﬁm%?mﬁi X

31.
Does increase in gross domestic product show an improvement in
public welfare ? Explain.
32. gﬁ%gga-mﬁwmmt?m%mml .
What are the important functions of money ? Write Wifh.c p].es
33. ﬁmﬁm%ﬁﬁmﬂmﬁmﬁm; o "a’“‘ 5
Explain paradox of thrift.
24/A/xu-som-'.mw; o
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35.

36.

37.

38.

[ 326 |
T U 3 e w0 o gay 2 2 wrEn S S
What is the rclationship between government deficit and
government debt ? Explain.

AR 56 % G S9N Hger Y gui | S
Show consumer's équilihrium with the help of indi{ference curve,
% v, W\ T wE aied wptg S el grn i | 5

Show total cost, marginal cost and average cost with the help of
diagrams.

e feredt wd & sy iR =t i gro = =l 5

Clarify profit maximization of a competitive firm with the help of
diagram.

frram Praif Sma 6 Ay = Re g i 5

Show the minimum support price policy with the help of diagram.
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